
CSc 144–002 — Discrete Mathematics for Computer Science I — Fall 2023 (McCann)

https://cs.arizona.edu/classes/cs144/fall23-002/

Homework #3

(50 points)

Due Date: October 6 th, 2023, at the beginning of class

Directions

1. This is an INDIVIDUAL assignment; do your own work! Submitting answers created by computers

or by other people is NOT doing your own work.

2. Start early! Getting help is much easier n days before the due date/time than it will be n hours before. Help is
available from the class staff via piazza.com and our office hours.

3. Write complete answers to each of the following questions, in accordance with the given directions. Create your
solutions as a PDF document such that each answer is clearly separated from neighboring answers, to help the
TAs easily read them. Show your work, when appropriate, for possible partial credit.

4. When your PDF is ready to be turned in, do so on gradescope.com. Be sure to assign pages to problems after
you upload your PDF. Need help? See “Submitting an Assignment” on https://help.gradescope.com/.

5. Solutions submitted more than five minutes late will cost you a late day. Submissions more than

24 hours late are worth no points.

Topic: Quantification

1. (12 points) For each of the following English statements, do the following: (i) Express the statement as an equiv-
alent quantified logical expression using appropriate predicates and domains, (ii) Negate the logical expression
from (i) and use Generalized De Morgan’s Laws to move the negation inside of the quantifier(s), and (iii) Express
the result of (ii) in conversational English.

(a) Every spring day is windy.

(b) Some red sports cars are battery–powered.

2. (6 points) Using our logical constructions for “exactly one” and “exactly two” expressions, convert these English
sentences to logic such that their meanings are preserved.

(a) Exactly one man was first on the Moon.

(b) Exactly two cupcakes have chocolate frosting.

3. (6 points) As discussed in class, “exactly two” statements can be viewed as the intersection of “at most two” and
“at least two.” Convert these English sentences to logic such that their meanings are preserved.

(a) At least two movies earned $100 million.

(b) Joaquin’s car can have at most two passengers.

(Continued on the back . . . )
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Topic: Arguments

4. (4 points) Which type of reasoning (inductive or deductive) does each of the following arguments best demonstrate,
and why?

(a) At lunch, Renee’s boyfriend ordered a side of refried beans and got gas. He had a bean burrito for dinner
and got gas. Renee knew it was time for a new boyfriend after he ordered a bean smoothie with double
beans at the theater’s concession stand.

(b) When Ernie heard Xena’s friend greet her by saying, “Well, hello, Miss Xena!”, he was confident that Xena
wasn’t married.

5. (4 points) Each of the following arguments uses predicates and quantification. Identify the rule of inference for
predicates used by each, and explain how you know that your choice is the appropriate rule for the situation.

(a) Timmy looked and looked, and finally found an astronaut figurine in his Lego box. “See?”, said his mother.
“I told you you had at least one in there.”

(b) “The copier messed up again and put a line down the middle of each of the quizzes. You won’t have any
trouble finding an example to show to the repair guy.”

6. (12 points) For each set of propositional hypotheses below, create two distinct, complete arguments that logically
reach the provided conclusion proposition. By ‘distinct,’ we mean that they can share some steps, but they
cannot share all steps. (Simply re-ordering some of the steps of the first argument does not create a second
‘distinct’ argument.) By ‘complete,’ we mean that each is to be written as a stand–alone argument. Be sure that
you justify each step of each argument.

(a) Hypotheses: ¬p → q,¬r, p → r. Conclusion: q

(b) Hypotheses: a, b, a → d, c → d. Conclusion: b ∨ c

7. (6 points) For the set of quantified hypotheses below, create an argument using rules of inference for predicates
(and other logical principles as needed) that logically reaches the provided quantified conclusion.

� Hypotheses: ∃x(P (x) ∨Q(x)), ∀x(P (x) → R(x)). Conclusion: ∃x(Q(x) ∨R(x))


